



St. Louis County, Minnesota

Date of Report: 5/13/2025 12:49:27 AM

General Details

 Parcel ID:
 275-0025-00610

 Document:
 Abstract - 1392023

 Document Date:
 09/15/2020

Legal Description Details

Plat Name: BREVATOR

Section Township Range Lot Block

35 50 17

Description: SE1/4 OF SW1/4 EX S1/2 & EX S1/2 OF N1/2

Taxpayer Details

Taxpayer Name HUFFMAN JACOB O IRREVOCABLE TRUST

and Address: 3557 NELSON RD

CLOQUET MN 55720

Owner Details

Owner Name HUFFMAN JACOB O IRREVOCABLE TRUST

Payable 2025 Tax Summary

2025 - Net Tax \$14,957.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$15,042.00

Current Tax Due (as of 5/12/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$7,521.00	2025 - 2nd Half Tax	\$7,521.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$7,521.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$7,521.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$7,521.00	2025 - Total Due	\$7,521.00	

Parcel Details

Property Address: 3557 NELSON RD, CLOQUET MN

School District: 94

Tax Increment District:
Property/Homesteader: -

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
204	0 - Non Homestead	\$48,100	\$978,500	\$1,026,600	\$0	\$0	-	
	Total:	\$48,100	\$978,500	\$1,026,600	\$0	\$0	11583	





St. Louis County, Minnesota

Date of Report: 5/13/2025 12:49:27 AM

Land Details

Deeded Acres: 10.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

				Details (HSE)	ons, please email PropertyT	<u> </u>
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc
HOUSE	1997	3,676		4.863	GD Quality / 1750 Ft ²	2S - 2 STORY
Segment	Story	Width	Length	Area	Foundation	
BAS	1	0	0	122	FOUNDATION	
BAS	1	0	0	366	FOUNDATION	
BAS	1	0	0	801	WALKOUT BASEMENT	
BAS	1.5	0	0	974	WALKOUT BASEMENT	
BAS	1.7	0	0	269	FOUNDATION	
BAS	1.7	0	0	280	WALKOUT BA	SEMENT
BAS	2	0	0	288	WALKOUT BA	SEMENT
DK	1	8	10	80	CANTILEVER	
OP	1	4	11	44	FOUNDATION	
Bath Count	Bedroom Co	unt	Room C	ount	Fireplace Count HVAC	
3.25 BATHS	3 BEDROOI	MS	-		1	C&AIR_COND, GAS
		Improven	nent 2 De	tails (AG 24X2	4)	
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	² Basement Finish Style Code &	
GARAGE	1997	57	6	576	- ATTAC	
Segment	Story	Width	Length	Area	Foundation	
BAS	1	24	24	576	FOUNDA	ΓΙΟΝ
		Improvem	ent 3 Deta	ails (52X72 RE	C.)	
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
RECREATION ENCLOSURE	2002	3,74	44	3,930	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	0	0	3,000	FOUNDATION	
BAS	1.2	24	31	744	FOUNDA	ΓΙΟΝ
		Improver	ment 4 De	tails (PB 30X5	2)	
mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
POLE BUILDING	1996	1,56	60	1,560	-	
Segment	Story	Width	Length	Area	Foundat	ion
DAC	0	30	52	1,560	FLOATING SLAB	
BAS	O	30	52	1,300	TLOATING	OLAD





St. Louis County, Minnesota

Date of Report: 5/13/2025 12:49:27 AM

		-								
	.,	-		Is (PB 24X36)						
Improvement Type Year Built			Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style	Code & Desc.			
POLE BUILDING 2006		,-	1,008 1,008		<u> </u>		-			
Segm		•	Length	Area		dation				
BAS	0	28	36	1,008	POSTON	GROUND				
Improvement 6 Details (70X118)										
Improvement Ty	Improvement Type Year Built		Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style	Code & Desc.			
POLE BUILDING	3 2002	8,2	8,260 8,260		-		-			
Segm	ent Sto	ry Width	Length	Area	Area Foundation					
BAS	0	70	118	8,260	POST ON	POST ON GROUND				
LT	0	12	14	168	POST ON GROUND					
		Sales Reported	to the St. Lo	ouis County Au	ditor					
S	ale Date		Purchase Pr	ice	С	RV Number				
(09/2020	\$783,000 (This is part of a multi parcel sale.) 238917			238917				
(08/2002	\$475,000 (\$475,000 (This is part of a multi parcel sale.)			147763				
1	\$0 (This	\$0 (This is part of a multi parcel sale.)			106693					
(7/1995	\$0 (This	\$0 (This is part of a multi parcel sale.)			106679				
		A	ssessment H	History						
	Class				Def	Def				
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity			
	201	\$48,100	\$951,80			\$0	-			
2024 Payable 2025	Tota	I \$48,100	\$951,80	0 \$999,900	\$0	\$0	11,249.00			
	201	\$41,600	\$868,30	0 \$909,900	0 \$0	\$0	-			
2023 Payable 2024	Tota	I \$41,600	\$868,30	0 \$909,900	\$0	\$0	10,124.00			
	201	\$34,000	\$826,90	0 \$860,900	0 \$0	\$0	-			
2022 Payable 2023	Tota	\$34,000	\$826,90	0 \$860,900	\$0	\$0	9,511.00			
	201	\$34,000	\$791,90	0 \$825,900	0 \$0	\$0	-			
2021 Payable 2022	Tota	\$34,000	\$791,90	0 \$825,900	\$0	\$0	9,074.00			
Tax Detail History										
				•						
Tax Year	Tax Year Tax Ass		Total Tax 8 Special Assessmen		Taxable Bu		al Taxable MV			
2024	\$13,455.00	Assessments \$85.00	\$13,540.00				\$909,900			
2023	\$13,427.00	\$85.00	\$13,512.00							
2022	\$14,709.00	\$85.00	\$14,794.00				\$825,900			
	Ţ : :,: 30.00	Ţ 0 0	Ţ : 1,1 S 1100	φο.,σσο	ψ. 51,0		,,			





St. Louis County, Minnesota

Date of Report: 5/13/2025 12:49:27 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.